RoboMaster
Battery Rack

IR (REE)

User Guide
5B

v1.2 | 2020.05

==

RomomA:



Disclaimer

Thank you for purchasing the RoboMaster™ Battery Rack
(hereinafter referred to as “Battery Rack”). Carefully read this
entire document and all safe and lawful practices provided
by DJI™ before using this product for the first time. Failure to
read and follow instructions and warnings may result in serious
injury to yourself or others, damage to your DJI product, or
damage to other objects in the vicinity. By using this product,
you hereby signify that you have read this disclaimer and
warning carefully and that you understand and agree to abide
by all terms and conditions of this document and all relevant
documents of this product. You agree to use this product only
for purposes that are proper. You agree that you are solely
responsible for your own conduct while using this product,
and for any consequences thereof. DJI accepts no liability for
damage, injury, or any legal responsibility incurred directly or
indirectly from the use of this product.

DJl is a trademark of SZ DJI TECHNOLOGY CO., LTD.
(abbreviated as “DJI") and its affiliated companies. Names
of products, brands, etc., appearing in this document are
trademarks or registered trademarks of their respective owner
companies. This product and document are copyrighted
by DJI with all rights reserved. No part of this product or
document shall be reproduced in any form without the prior
written consent or authorization of DJI.

This document and all other collateral documents are subject
to change at the sole discretion of DJI. For up to date product

1



information, visit www.robomaster.com and click on the
product page for this product.

In the Box

Battery Rack x 1 Magic Buckle x 1

Magic Cable Tie Metal Fixing Plate Screws x 3

x 1 x 1
/ (M3x6)

Introduction

The RoboMaster Battery Rack is a device used to fix and
power a battery and can be fixed to surfaces such as the
ground, a wall, or a robot. The Battery Rack is compatible
with batteries such as the DJI TB47 and TB48 series. The
power switch is used to power the battery on or off and the
battery information port monitors data such as the current

2



battery level.

The magic cable tie in the package helps to secure the
battery and prevents it from falling off when impacted or
used in environments prone to vibration.

Overview
3
: | g
I 4
2 o
1. Battery Shelf 3. Battery Information Port
Used to place a battery. Used to monitor data such
2. Power Switch as the current battery level.

Power a battery on or 4. Power Output Port
off. Connect to a robot or the
Referee System.

Installation

Fixing the Magic Cable Tie and Buckle (Optional)

When used in environments prone to vibration or there is
arisk of impact, it is recommended to fix the magic cable
tie and buckle onto the Battery Rack before mounting the
Battery Rack and battery. When attached to a static surface
like a wall or the ground, there is no need to fix the magic



cable tie and buckle.

. Unscrew and remove the power switch. Compress the
magic cable tie with a metal fixing plate and use screws
to fix the power switch, metal fixing plate, and magic
cable tie to the same side you removed the power
switch (the power cables have not been included in the
illustration below for easy viewing).

2. Use the metal fixing plate (hook side facing outwards)
to fix the magic buckle to the opposite side of the power
switch.




Mounting the Battery Rack
Refer to the dimensions in the illustration below when
mounting the Battery Rack.

Top View

55.40

Front View

Side View

Unit: mm

A « The Battery Rack has threaded M3 screw holes. A minimum of three M3
screws are required to mount the Battery Rack properly
« The depth of the threaded holes is 6 mm. DO NOT use screws that are
longer than this depth. Otherwise, the Battery Rack may be damaged




Mounting a Battery

After mounting the Battery Rack, insert a battery into the
Battery Rack in the same direction as shown below in
illustration (1). Secure the magic cable tie as shown below in
illustration ) .

If the magic cable tie is not secure, insert a battery to the
Battery Rack in the same direction as shown above in
illustration (7).

Usage

After mounting the Battery Rack and inserting a battery,

power on the battery as follows:

1. Connect the power output port to a robot or the Referee
System.

2. Press the battery power button once to check the battery
level, and then press and hold to turn on the battery.



3. Turn on the power switch of the Battery Rack to power on
the battery.

Specifications

Weight: 85 g

Power Output Port Connector: XT60

Max Operating Current (Continuous): 35 A



BERE
RS RoboMaster™ E3ithZ8 (FEEEL) (LATEMR
“EIZRT ) o ERATTRZAT, BIFHDIEITEEAY
RoAsE ™ol (DI™) IRIEMFERLIES], BUTEES
BEFBENAGRGE, AN RHEBEYR. —
BEAAT R, BIAEBEFMEITEAN, 2. AY
MBS AR AT BT ARSI LT ERNE . &
B EAAFRLAR ARG RALEH(T.
KEBEUFT (DJI) M F B E)EER A =R MIERAIRIA
BEURHGEFRSEAF RS, DI 2RI ASRIRRE
BIRNBIREXB AT R . A EIAT=GRER. RS,
WREFBATHIEN. A= RRFPARIZCIIRIATE
HEVFR], NMELMEIFZ S HIEIED .
AR A= ER A SRR TASE IR DJI)
. B8N, BABIT@EH. 5155 www.robomaster.
com B MuALBREVRF I = RIEE .

EZith2e x 1 BRI x 1




BRI x 1 EREEER x 2 422 x 3

< -
/ (M3x6)
&

RoboMaster FEit28 (FREEL ) B—N%E I RoboMaster #1128
NGB HEEFHB et . HRELRRE, o3k
PEEFI AU TEIE . 1ZFREEIHE23R2 DJI TB47 RN
Fith, FRIthZR FECERIRTTSE, ARt
SO, TRTENEEbEREEHE.

BEEMPTECRIBEARILT, BT TF/Ea. PhENE NI E
FRIRLE T SARIMTE, RAERAR.

Mt SR ER B TR
T 3
1 I
Ll ! 4
2 o]
1. Bt ELR 3. Bith{ERdEN
BFXmEit. P RFENARIERREES
2. BiREFFR iR,

FRWFFRithits. 4. BIREEO
FIEEENBATEHRS .



7%

RARBAHHIUNE (i)

HFER. PESE ERR, EBPIEZEARILGI

IWRETRIR L, ARBRAEEIHRNBIN. S5SE

FRRBIERAT, MUEHZARBEAILHII .

AAFFERIRFFRASIRMIRLE | SR ERRFFRABIREN T o i
BEEEREREEEAINT, AEEMRIRLIGEIRITXE
. EEEEFURBAIITEEFZM. (H75EWE,
ERPERIRLERIER ) -

2. (FFAZEEREEEAILT (FHL—NEst) BET
BT R IR R A — (U, FHEFAMEURLLIT REE .




e chiS
BEEEEIMRNR TR ELEERNE .

HNE

MARE

B mm
A\ - EBithER FROIREIFL N M3, BRI ED = IAISHR
LRI

BEEORED 6mm, BDERIKA0RLL, BATRER
SEERIHZIRIA




R
ER SRR, BIRERERRRIRESL OB HE
NERtER, AEBBERILSIT, NER Q.

ERDEEAILT, NEBSB0RREL OB EENS
JHERENFT

= B
RESTHRIBRITEANR LG, BRBINTSREESRD
B3R

1. IR OB A S SRS

2. SeiEiREith LSRR X —RIGERE, BIELUITR
FEthERIR

3. fGEEIER LSRR IREFTFHUE, LUEEEIEIR.

12



-
B 85g

ERiREIt sk XT60

BRI IFRR: 35A

BEMR
HHERR B R | R || SER | snoRm
(Pb) | (Hg) | (Cd) | (Cr) | (PBB) (PBDE)
LRERIR x o | o o o [e]
455 x o | O o o ]
SRBU (FER) x o | o o o o
[eEis=22) x o | o [¢] [e} o
HithFelt x o | o ] o o

BERLUTF.

EHRBER. (7

TS

AFRIGIKIE ST 11364 BUNERH .
O: RFIZEENRELBHMEIEE PSR GB/T 26572 MEHIR

x: RRZEEVRELELEMIR R H TS S8 GB/T 26572 1
EXER ROHS ESHRER )




WWW.ROBOMASTER.COM
Rand ROBOMAST:
Copyright © 2020 DJI All Rights Reserved.

Rl ROBOMAST=R RABLISIEITR.
Copyright © 2020 AZECIF KA

YC.BZ.S01414.06

are the trademarks of DJI.

Printed in China





